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#include<bits/stdc++.h>
using namespace std;
int d[100010];
int T;
int main(){
for(int i=1;i<100010;i++)
for(int j=1i;3j<100010;j+=1)
d[31++;
scanf("%d",&T);
for(GT--5){
int a,b;
scanf("%d%d",&a,&b);
printf("%d\n",d[a]*d[b]-d[__gcd(a,b)]*(d[__gcd(a,b)]-1)/2);
}

return 0;
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//#include"sugingnian.h"

#include<iostream>
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#include<cstdio>
#include<algorithm>
#include<ctime>
#include<cstring>
#define int long long
using namespace std;
int n,k;
struct _Martix{
int
num[210][210];
_Martix(){memset(num,0,sizeof(num));}
friend _Martix operator*
( const _Martix & a,const _Martix & b)

{

_Martix _ c;

int _n=n;

for( int _k =1 ; k<= _n; _k ++)

for( int _i=1; i<= _n; _i++)
for( int _j =1; _j <= _n; _j++)
_c.num[_i][_3j] +=
_a.num[_il[_k] * _b.num[_k][_3]T ;

return __c;

}

}a;

_Martix pow2(_Martix a,long long b)

{
_Martix c;
for(int i=1;i<=n;i++) c.num[i][i]=1;
for(;b;b>>=1,a=a*a) if(b&1) c=c*a;
return c;
}
signed main()
{
scanf("%11d%11d",&n,&k);
for(int i=1;i<=n;i++)
for(int j=1;j<=n;j++)
scanf("%11d",&q.num[i][j]);
q=pow2(q,k);
printf("%11d",q.num[1][n]);
return 0;
}
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#tpragma gcc optimize(2)
#include<bits/stdc++.h>
using namespace std;
int a[100010],n;
int main(){
scanf("%d",&n);
for(int i=1;i<=n;i++) scanf("%d",&a[i]);
for(int i=1;i<=n;i++){
int ans=0;
for(int j=i+1;j<=n;j++)
if(a[j]>alil){
ans=j;
break;
}
printf("%d ",ans);
}

return 0;
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cmath>
#include<cstring>
using namespace std;
long long n;

int main()

{
scanf("%11d",&n);
long long ans=sqrt(n);
printf("%11d",ans);
return 0;
}
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<stack>
using namespace std;
char a[5000050];
stack<char> st;

int n;int cnt;

int main()

{
scanf("%d",&n);
cin>>a;
for(int i=0;i<n;i++)
if(a[il=="(") st.push('(");
else{
if(st.empty()||st.top()==")") st.push(')");
else st.pop(),cnt++;
}
printf("%d",(n/2-cnt+1)/2);
return 0;
}
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<ctime>
#include<cmath>
#include<cstring>
using namespace std;

long long n;

int main()

{
scanf("%11d",&n);
if(n==711) puts("10");
if(n==7711) puts("94");
if(n==77711) puts("892");
if(n==777711) puts("8640");
if(n==7777711) puts("84657");
if(n==77777711) puts("834966");
if(n==777777711) puts("8267019");
if(n==7777777711) puts("82052137");
if(n==77777777711) puts("815725636");
if(n==777777777711) puts("8118965902");

return 0;
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